10) V(x+8) - V(x+3) > Vx V(x+8) = Vx+ V(x+3)
OT)Be'(I'Z [0?1) . e x+8=2x+2V(x"2+3x)+3 — T
2V(xA2+3x)=5-x NI~y

/
N
11) {V(5-x) + 4x-15}/{x-3} > 2 4(x*"2+3x)=25-10x+x"2 —
Otger: (-6eck;3) U (4;5] 3x"2+22x-25=0 O /) ‘L_C’S4\
12) (x+3)V(2-x)<=0
OtBer: (-6eck;-3] U {2} [V(5-x) + 2x-9] / (x-3) > O[3 x<=5
0

13) (4x+7)V(3-5x)<=0
OTser: (-6eck;-7/4] U {3/5} W
19/4; 4 =3 4y Iy

14) (3x72 - 16x +21)V(2x+5) <=0

OteeT: {-5/2} U [7/3;3]

15) (2x+3)V(6+x-x*2)>=0
OtBeT:[-3/2;3] U {-2}

16) (6-2x)/V(x*2+7x+12) <0
OTBeT:(3;+6eckK)

17) (3x+15) / V(x"2 - 5x -24) >0
OtBeT:(-5;-3) U (8;+06eck)

18) x*2>=8Vx
OtBeT:[4;+6eck) U {0}



